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‘.11 Q2. Serum differs from plasma in lacking:

A, Albumin i
2 Fibrinogen s
« Globulin

D. Ferritin

E. Apolerritin

Q3. Which are the most abundant of all the cells of
the blood?

A. Lymphocyies

B. Neutrophils

C. Monocyles
Platelets _
Red hlood cells ~

Q4. The following cell is devoid of the hemoglobin:

A. Erythrocyte
B. Reticulocyic
C. Intermediate normoblast

D. Late normoblast
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Q5. Maturation of erythroblasts
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D. Pyknosis of nucicus
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E. Release of histamine by macrophages 1l
C. Red blool cells

Q5. lntrinsic pathway of blood coagulation is @ 0. Basophils

slower  process as compared to the exlrinsic E. Spleen

pathway. It is initiated due to blood trauma or ; : G
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Q12 What Is the term oul of following lor adlicsion

af an invading bacieria w i I|:Li andl complement (o

faciliinie recognition by o macrophage”
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A Opsonization,
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D. S
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QI4. Which of the following would most Hkely be
usedl  Tor preventbon  of swmbden  Iscliemie heart
nttack?

A. Herapin

B, Warfarin
Aspirin®s

. Swrepokinasc

E. MNone ol the above

Q15. Which of the following is appropriaie
treatment fur massive pulmonary embalism?

A. Calcium
B. Vitamin K

Aspirin

Tissue plasminogin uctwmnm
E. None of the above
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“t ffect of iafMammation?®
I

A. Prothrombin
-

f A Ihusmin
{ {7 Fibrinogen
II.- ;}' Globulin

E. a Globulin

[ 2. Serum differs from F'IT\I'IIQ
/' ackimg:
_|
|

A. Albumin
l-—@ Fibrinogen
- Globulin
. Ferritin
E. Apolerritin

23, Which are the maosi abundani
sl all the cells of fl:u' bload?

A. Lymphocyies
U;;(H' «MNeutrophils
» Monocytes
latelets
i @;L‘d blaod cells™

. The following cell is devoid of
he hemoglobin!

Erythrocyic

WRCHHI]HL yle

Intermediate normaoblas]

I}. Lnte normaoblast
E: Pronormablast

J5. Maturation u]":nlhmhl 1518
nvolves:

A, Increase in size of cell
B. Condensation of
y chromosomes in nucleus
2= M ccumulation of
& "
hemoglobin }
D. Pyknosis of nucleus

E. Breakage of cell membrane

J6. The oxygen and carbon
lioxide exchange in RBCs is
naximum with the following

wnfiguration of red celk:

Spherical
Owal
Triangular
Rectangular
liconcave

celis npe forme

A Gontine
the bung marm by in

oW of the:

E Ses aimgid banes
o Bhalts of long bodies
Jover o
\,.-'lf Membrg
E.

ndle af the ||.|||-__| Dby
W bgney

3

Phalmngeal bones

l.]'!lll Fe in the liver parenchymal
Cells ks stored in ihe form of:

A Apoferritin

B, Transferrin
Hemosiderine
@ Ferritin
Hemaclfomaiin

09, The protein responsible for
irom transpori in plasmy ks:

A. a l-anii trypsin
B. Ferritin

C. Apo-transferrin
D Apo-ferritin

E. Ceruloplasmin

Q0. The erythropoictin level in
the blood of the fallowing will be
high:

AL Olympic marathon runner
B. End stage renal disease

\_ &= Polycythemia vera

D. Aplastic anemia
E. Leukemia

Qll. A 24 year old African
American man comes o the
emergency room 3 hours after the
onsel of sevére back and chest pain
which started when he was
climbing up a mountain, He had
an episode of same symptoms five
years ago. His values are Hb:
11ghL, TLC: 12,000/mm’,

ticulocyle count: 25%. What is
the disgnosis of this patient?

A. Acute blood loss
B. Sickle cell anemia

nemia of chronic disease
D. End stage kidney disease
E. Chronic blood loss

applics 1o an AIDS patbent?

Ao They are capable of
ETnerating u sdormsl
anisbody Tespnse
They have increased el per
T celis
C. They have increased
secretions of imer-leukins
B They have decrensed melper
T cells
E. They have decreased red
bilood cells

Q13 The actively phagoeytic cell
i the Dlsod stream is:

A. Basophil

T Meutrophil
C. Eosmophil
0. Lymphocye
E. Monocyie

014, Combination of monocyte's
mohile macrophages, fized tissuae
macrophage, and a few specialized
endothelial cels in  the bone
marrow, spleen and hymph nodes
s called:

A. Complement system
B Coagulation system
C. Immune sysiem

\__,@ Monecyte macrophape

system
E. Lymphatic system

Q15 What happens following the
presentation of am antigen by a
macrophage?

A. Direct gencration of
aniibodies
B. Activation of cytotoxic T
cells
C. Increase in phagocylosis
Activation of helper T cells.
E. Activation of platelets

Q16. Bluish tint of the

polyeythemia person is because of

excess ol:

A. Myoglobin
Deoxygenated Hb
. Dxygenated Hb
D. Reduced Hb
E. Sulphated Hb
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¥ g1y Wich of the following stalcmenis regarding
*uﬂ.l‘l"ﬂ.’
A. Are lormed in the lymphoid tissue and bone
marTow
(K Hiave mo mucicus but can soutract du la the
preseace of cpnls
. Do ot show adhesiveness while coming
contaci with collagen
1. has a life span ol | 20 days
£ Prevent inwravascular coagulation if
endothe lvum gets mpurad
(22, Which of the following factors is important ig

A A
i with
-
] are tres

{’C.lk.m-hﬂ-

QX The guitial bdogonlalic [CLIF]
A Thrombin vy -

B Fibrin entirely
Protein C and §

- rtang
present in ihe blood iy m“‘\
A. Warfarin

i
" o,
* teparie S
0. Plasminogen T - ‘#wﬂ";‘
E. Prothrombin A
e 'i“':.
Q8. Which of the following i truae -
Lroup antigens ™ Ay \ - i—""'“:
A. Are present on the surflace of reg b by "':#ﬁl
B Ar called agglutinogen i
€ Both A snd B « o
Are formed by the rod boae TiETorw
E. All of the above o L
A ;. 24
Fr:__'"mm'”'“hu'"“”“““hn "
A. A& D group N
B AB group |

C. A.BABD group
.,g, Oaly O group
E. None of the above

Q0. During cross matching of blood the
compatibility is seen by reacting:

A. Recipient RACs wilh donors serum
| 8 Donors serum with
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~ o oot show adhesiveness wii .
comagt with collagen while coming in

has & life span of 120 days

Prevent intravascular coagulation if
cpdotheliom gets injured.
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L owvalen ol tive followi
:_.nm ugpregation? ot ikl
A. ADP
. Comact with collagen
. b inding of plateler with fibirin meshwork
LA &8 and C are true
% alcium lons

U133 e initial hemostatic plug cuntains
A. hrombin
B. librin entirely
C. MmoteinC and S
0. agpregated platelets and other bloail cells
E. Plasminogen activalor

{3 TEe blood in the vessels does not clot ina mormal

purson  because:

4. Thrombin has positive feedback effect on
plas ninogen

i v ascular endothelium is s
pivensalyx
C.Emhﬂ-iﬂdﬁﬂ'tlﬂh}. :
5. Cuntact of the blood with exira yascu

'E. All of the above

lar tissue.

§udowilig coagllation faclors are vitamin K

-i.‘ll-.‘-l
4;|.,-|;|_e|',..'l-tm

a. 1LXXI1

B. 1L Wil &X1i

- 1§, VIi. &%
\jfg XiEXil |
& -~ h’“ o) '|l. .
oA o years old boy bru ;
Ll S0 several occasions for
materral uncle has 2 bkﬁ_llli -
(he foliowing is the most li ..

jeficiency?

poth and coated with

T e iRl g
Brescnt in l.h-.llt;::,:td TR e gatu oy
A, Wariarn
b Weparin
E.‘ Fibrin
FL'-‘“'IH'IDH-L'“
E. Prothrombin

(. Which of the oblowing i 1
groan amienn? W rue regarding blesd
A. Are present on the surl
B ARt 1.Inu':¢.:= ol red bk czlls
A Bath A and B
. Are lormed by the red bone marmosw,
E. Al of the above
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N o
Q8.1 0 person blood groug is O le can reecive b
frawm:

A, A& D group

. AR group

. ABABO group

A= Only O group
E. Mone ol the nhave

. During cross mratehing of bluad L
com patibitity is seen by reacting:
A. Recipiemt RBCs with donors SeTUm
B. Donors serum with recipient senuim
C. Donors RBCs with recipient RBCs
— Douors RICs with i
E. Allof the sbove
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ey G duwed

1Al of the following culﬂ-‘-ti.li!'pi cause
l -- pleeding in human hungsu!:upt
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brane EXCEPT Q7 Plasma colloid ssmetic

Total bady fuid is 42 1y
ﬁ.ﬂhwuﬂ“.mwlfrh-mq; E. Immunoglobulin

Jistributed as:
Q8. Hemoglobin A2 is the most abusdant type of
j.ﬂﬂﬂlﬂmwluh;_mmm e present in s sdelt. It i
S e T
D, Dws cellular, two third extra cellular, A. 2 alpha 2 beta chains
{mmh“mh‘mnhimr.unm E}ﬁ:mm
intrace ' ining i 2 2 delta chains
o, i, RGe O3 S daha chaimn
E. None of the above E. 4 gamma chains
Q9. Before the development of m persom's own
Q3. Running bundred meter race with intention o defense system the infant body has e rely upen
win putting more and more speed at each mext the antibodies of maternal origls which is an
runping footstep is a good example of : exumple of :
A. Negative feed back mechanis A. Active acquired immunity
8" Feed forward mechanism . nssive lﬁp{lﬂm
i mechani C. Active adaptive )
PR A A i D. Arificial acquired immunity S

D. All of the above
—E. MNone of the above

Q4. The gene expression includes:

A. Transcription only. _
B. Posttranslational processing
C. Translation only >
. Peptide linkage only.
,::' Transcription, translation and protein synthesis

Fi lnnuie immunity

Qa,Tnmu-ipﬂnluirlhihlprwﬂ“ .
A. Whmlnﬂﬂﬁismeduaumﬂ# for protein
production. J : '
ek m;nmmm“@““‘"wﬁf ;
the purpose of gene expression. it
LT Where DNA wraps around histones it
— nucleosome.
D. gfupliminunfmhbﬂ
E. Of replication before
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lotting of
/ 3:;'?‘: hy:' blood by extrinsie pathway la
;.;Fih‘inﬂlﬂ activation

Tissue trauma (tissue throm :
{: H.I.EﬂIHI.n rlnl.l:t (F_xnl b“llll.'lun “"
D mﬁd I‘.ﬂll.lign
E. Blood trauma

11y

. I
B SSET st ermo e o

A. A& B group
B. AB group
6 A,B,AB,O group
D) Only O group <~

E. Nﬂﬂ-ﬂ of the m"
™

t_}lﬁ.JWhll occurs following preseatation of an
antigen by an infected cell?

7 Generation of antigen antibody complex
B. Activation of cytotoxic T-cells

C. Increase in phagocytosis
D. Release of histamine by mast cells
\ E-—Activation of helper T-cells

Q17. If Rh +ve person receives Rh —ve blood there
would be:

A. Sensitization of recepient immune
\B” RBCs hemolysis.
C. Anaphylaxis :
@& No risk of complication (P
E. Acute kidney shutdown

system

Q18. What causes the rdeuﬂuhhhnlhl in an
allergic reaction?

A. Bindjngnﬂthﬂw
_B-Binding of IgE 10

C. R:lzaseufhisumuwhyhleTu.hh.m
D. Free ndiullslinﬁl_lﬂhlﬂﬂm

E. Release of histamine

(Q19. Chronaxie is as:

equured o
strength of exciie the fiver when
strengh ® Gurrent used is double the rhecbasic
Minimum time

required 1o eacite the Lissus when
strength of the curvent s minkmum.
E. Maximum strengih of stimulus
Q0. The myelim sheath to the nerve fibers in Vss
central nervous system is provided by

A. Schwann cells

B. Astrocytea

C. Microgliocytes
¥ Oligodendrocytes

E. Fibroblast

1. The RMP domsicd by the Na K pump io
excitable cell membrane is:

\/ﬂ')\vﬁlﬂ my
B. my
Amv

D. +94 mv
E. -T0m

)22. Caleium ions have the following role i=
skelelal muscle contraction:

A. To uncover the active sites on actin filaments
_B To combine with troponin c
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following

n level
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A 314 wvear old African
merican nam comes 10 the
srpency room 3 hours after the

1 epis yide o
1e ML, LGS

e

|.'.
gl ol

which staried when he

ticulocyie

severe back and chest '|.1-'l-il'|.
was
o mountain. He had
[ same symptoms five
ilis values are Hin
12,000/mm’,
count: 25%. What Is

diagnosis of this patient?

0.

A. Acute blood loss
B. Sickle cell anemia

1 nemia of chronic disease
). End stage kidney disease
. Chronic blood loss

-
|

D

PERLE
nEe, and e spocialized
ik n the band

row, splees and iwmnh nodes

a. Complement Sy5LLm
B. Coagulanon sysiem

C. ~Immune $ysiem” ™

% onogyis MmacTephage
LYSTEm
E. Lymphatic system

| Q15. What happens following the
| presentation of an antigen by a

|

nacrophage?

A. Direct generation of
antibodies
B. Activation of cywtexicT
cells
C. Increase in phagocytosis

Activation of helper T cells.

E. Activation of platelets

-| Q16. Bluish tint of the
polycythemia person is because of
.| excess of:
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1 1% YE i ~ INSTRLUCTIONS e
System Test{ CIRCULATORY SYSTEM | ' e Fe pkmalba i at T T
Syst s L

j uTAn g and ove ratimg an . cpaabive pary Wil ned e e spstaal

1. Which of the following increases the platenn 6. Right ventricular Gaolure leads to:
level of cardiac output curve? i
A Mynu.uiil.is Ao Pulmonary ede _
B. Cardiac temponade B. Reduccd i}'ﬁl'l.!l'l-"l- mgnal pressure
C. Myccardial infarction C. Decrcased conceniration of aldosterone n th
f Mitral stenosis e

: : @ Fldema ol feet
Decreased pu_wh:ﬂr.nmlanun of F. Edomaof face
heart

. 7. Which of the follow g does not cause hyjpo
2. Total peripheral resistance increases in which of elfective heart?

the following*
A. Anemia A. lahibition of syrathetic nervous excitalion «
B. Exercise ~ haan v g

C. Sympathetic stimulation k. Coronary l.mt_r-_. oklny

D. Aneriovenous fiswla g :—l_-'ll:iulwrl 12;:., it

= Arcias ypaaa
et ’ '_’ mpatheiic _‘i-'.-'l-l-l-llﬂ.“vl'l
3. Regarding systcmic ¥ass slance s
the vest statvments o T rding sccond heart
A. is less than the pulmo :
B. Dircctly propartion
argan )

C. ls inve

PRI [

lood
@}

4







4= A :
A triove ircular bundle Ghe
1 rurkin "B

[]
]

.....

i

C Rhythmicity
BT Long refractuory period
2} Short refractory period

B e e i e i
(usc ol relractory period in ventricular muscl
A, Slow conduction of action potential,
rated  poiassim

B) Slow closure of vollave
channels

L Closure o) inactivalion paies
channels till RMDP.

13} Calcium influx in plateau phase

of sodum

| |
[

Important histological [eatures 1 cardia.
muscle tissue responsible for excitatios
contraction coupling is,

A¢) Markedly developed ER and triads :

B) Well developed T-tubules (More length an

volume). : .
C) Well developed Ryanedine receptors
' +T) Both B and C

Automaticity is best developed in the cells of 5
node because SA nodal tissue has.

A) Na leak channels.

B) Slow calcium channels.

C)Voltage gated fast Na channels.
‘,D% A and B

causes,
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Heuiin gg, Circulation

QL. Mean arteriy Pressure jo7

A, Systolic : 1

o ??Dﬂ pressure+ Diastolic blood

- I8 value is nearer 10 systelic blood
I-'"'HII-HF than diastolic blood Pressure

« 30% of sum of Systolic and Diastolic
blood pressure
Systolic blood pressury — Diastolic blood
pressure
13 Pulse pressuret+ Diastolie blood
fressure

Q2. In which of the following conditions there
will be a decreased cardiac ouiput?

A. Hyperthyrowdism

B. Beriber

C. Atrioveniricular lstul

3. Ancinia

E. Acuic myocandial infi et

QX Right vealvicalar Gails

A. Pulmonary e
B. Reduced Y
. [Decrease

the L
1. Eal
K

i
Fila

ks 10, Th'“ll‘ g
Select Single besy .
rks,

T
LL I.Hult.l:“ LULS Lus (vieus)
v &

answer, all questions CTTY @ qu.

Qo.lollowing conditions may resli |
1
standing Hypertension unp{t gty o,

A,
B.
C"
D+
E .

Renal failure
Cerebral haemorrhage
Retinal haemosrhape
Myocardial infaretion
Hepatitis

Q7. Which of the following sets of dilTevences st
deseribes the hemodynamics of the pulvonary

circulation

when  compared  with  systemie

circulation?

(Flaw)
A. Higher

(Arierial Pressure)
Higher
Laower
Lower

 Lower

 Lower

(Hesistancr)
Higher
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TEST: 3™
Date: 13-08-1§

1= A 20 year old medical student
meter race on her coll SpPorts week,
--dum:I s

2. A 45 year old weman has an expiratory reserve volume

(ERV) of 1100ml, inspiratory reserve volume (IRV) af

: mwm-uum-imuu.pwuh
GOD0mI, What is his residual valume?

BIVES up ity onygem s i
passes through the tissue capillaries s calied
“Utilization Coefficient™ ) What i its value during

(A2 79%-Rst4
B. 40%- 0%
Lol T1 ™S

D, §3%-100%
E. S0%79%

In & resiing state, what is the amount of 02 relensed
fram Hemoplobin, when systemic arierial bood fows
through the tissues?

Sml/1 00ml of blood flow
B )










3 ﬂ]’ﬂ'ﬂmhmnﬂ-hﬂh-ul
compressing the underlying brain thsue. Which of the
following bleod pressure regulaiing meehanism securs
in respanse to an increased intracrnninl pressure (CNS
lschemic response)?

A, Blood pressure and heart raie increase

B. Blood pressure and heant rie decrease

g Blood pressure increases and heart rite decrenses
Bloed pressire decreases and hear rite increases

E. Blood pressure and heart rate remain constant

af the following will Increase venous return excepi
e :_' Megative Right Atrial pressure o
B. Exercise
. Increased force of contraction of hear
Q Cravity
Healthy venous pump
39- Which of the following part of elreulatory system has
the greatest eross- sectional area?
A Aopra
B. Anteries
C. Veins
D. Venules
(E) Capillaries
dil- When a person stands from its supine position, his/her
heart rate is increased. Which of the following accounts
for increase in heart rate upon standing?
A, Decreased toal peripheral resistance
B, Increased vasoconsiriction

A Which or e Tk b iy,
in & vessel? B Wil caunne

{L:'--' Ima"h'ﬂhﬁq‘h

ensalory mechanis : & - ?*-*4
shoel include sl of the u;...'::'m Yok L& g
A, Asteriolar constriction i . e J‘ﬂ
B. Increased henrt rale i b, ;

C. Sympathetic over sctivily
M.} Sludging of small blood vessels

E. Inecreased level of argiatensin 2

db- A 70 Kg man has a heart rate of Tbeats/min, His Eng

diastolic volume is 120ml & End sysialic VOIMmE by Sy
What will be his eardiac output?
A. S000m|

(B 4900m]
C. 4000ml
D S200m|
E. Cardiac output cannol be calculmed

47- A 37 year old female was brought o the emergency
depariment in shock. Which of the following is the
reason to direct treastment toward seplic shock rather
than hypovolemic shock?

A. Cardinc output is higher than normal
Ventricular contractility is greater than normal
iance is greater than normal










Loral potential at motor end plate present at negy
mascular junclion sk

3., Saliatory potentisl
g, Receplor potential

. ()26, Multiunit smoath muscle fibers are:

‘?*‘, Supplied by many muscle fibers by a single nerve
! fiber
~Cne muscle fiber supplied independently by one
nerve I'lb-:r

C. Contract in response o hormonal stimulation
0. Do not obey the nervous stimulation
E. Are slowly contracting muscles

Q27. Which of the following is one of the major
causes of death after myocardial infarction? _
A. Increased cardisc output

B. Decreased pulmonary interstitial volume
&7 Fibrillation of the heart
D. Increased cardisc contractility

T tubules is thought to be:

A. A source of acetylcholine
B. A structural support during contraction

@A pathway for thg spread of electrical
activity QVEEJI\JPM ’
X +~D. A calcium 5in )

E. A pressurs release machanism

] E. MNone of the above

E Q28. In skeletal muscle, the major function of the
|

|

229, Im smgoth muscle the calcium binding
proiein is:
A. Troponin
B. TroponinC
C. Actin
D. Tropomyosin
B Calmodulin
Q30. ECG is a graphical record of:

A. Mechanical activity of heart
«B: Electrical activity of heart
C. Closure of valves

D. Contraction and relaxation
E. Systole and diastole

Q31.  Which of the following phases of the cardiac
cycle follows immediately after the beginning of
the QRS wave?

A. Isovolumic relaxation
Ventricular ejection

C. Atrial systole

D. ng.smsls

\E‘,./Ewnlumjc contraction

Q32. Which of the following events is represented
on the ECG? . \

A. SA node depolariz
B. AV node depolari

C. His Bundle depolarization
i ﬁ Atrial muscle depolarization
E. Atrial repolarization

Q33. Which cardiac eve ol lollows P wave?

Atrial contraction
Ventricular contraction
Atrial filling
Ventricular filling
Both A & B

mENEX

Q34. Increasein P-R interval ks due to:

J.’ 1" degree heart block 7\
B. 2™ degree heart block
C. Complete heant block
D. Atrial flutter
E. Cardiac arrest

035, Which of the following evenis is associntied
wilth the first heart sound?

A. Closing of the aortic valve
B. Inrushing of blood into the ventricles during
diastole
C. Beginning of diastole
D. Opening of the A-V valves
LED Closing of the A-W valves

003%.  Rapid upstroke of ventricular action
potential is due to:

A., Volage gated slow Ca+ channels
A Voltage gated fust Nart chanmel

C. Volage gated K+ channels

D. Na+K+ pump

E. Volage gated fast Ca+ channels

Calculate_the, Cardiac Outpui if, stroke

Cwlume is 10 mi asd Heart rate is T0/min
A., 4650 mUmin

. 625 OmU/min
"':. '.'f.'n_umlrmin
Q38. Resting membrane potential of pace maker
cells is?
A. -23 mili volts
B. +15 mili volis
=-55 mili volts
D. -90 mili volts
E. +35 mili volts

Q39. The AV Nodal delay is basically due to:

A. Thick AV node. o
B. Insulation between atrial and ventricular synciia.
. Presence of transitional fibers, fewer gap junctions
and hyperpolarized cells in the node.

—




L gyimpatketic innervations
5
» fmct that it 1% not mnervaled b}

I

The
- I.h__l-a_.,}:ilp.il]'-l.'
40, Which of the following i3 & characieristic of
progressive hemorrhagic shock?

Li¢ nervous h}}ll:lll

' As increased cardiac contractility

B t:pdotoxin relcase

e Decreased capillary permeability

p. Increased cell membrane active ranspon of
sodium

E. Tissue alkalosis

(Q41. Loas of vasomotor tone after a history of
|p1nll anesibhesia is indicative of;

A. Hypovolemic shock.
—B~"Meurogenic shock.

C. Septic shock.

D. Anaphylactic shock

E. Cardiogenic shock

Q41. Coronary blood Mow intr-rj:u-u during:

Systole
iastole
C. Repolarization of ventricle
D. Depolarization of ventricle
E. None of the above

Q43, The transpulmonary pressure is:

A. The same as imrapulmon~ry aressure,
B, Equal to pleural pressure,

The difference of pleural and alveolar pressures.

D. The difference of intrathoracic and alveolar
pressures.

E. The sum of intrapulmonary and alveolar pressures.

Q44. The oxy hemoglobin dissociation curve
during the severc exercise :

A. Shifts to left

@ Shifts to right

C. Does not shift

D. Becomes more stecp
E. None of the above

Q45. During acclamitization at high altitude
following changes occur except:

A. Pulmonary ventilation increase

B. Cardiac output increase '

C. Hemoglobin and RBCs increase;

D Diffusion capacity of lungs decrease
E. Mitochondria in cells increase

. Whi following group of meurons in
Q46. Which of the ‘:m - bursts of

the respiratory centre
lnph_-:,lnn‘ ramp

A. Ventral respirato
B. Pneumotaxic
C. Apneustic centre

wI-Thorsal respiratory group
E. Mone of the abave

47, Which of the following volume | capacity is
measured by Helivm Dilution Method?

A. Tidal volume

B. Expimstory reserve volume
C.. Inspiratory reserve volume

@ Functional residual capacity
E. Vital capacity

()48, FEV1 s characteristically reduced in:

A. Pulmonary odema

B. Respwatory failure

C. Restrictive lung discase
- Dbstructive lung disease

E. Pulmonary fibrosis

(049, The composition of sweal s modified in
tubular part of gland under ihe effect of

Aldosterone as:

A. Ha & Cl ions are added

-{?N.aclmmmmm
. K+ ion is added
D. K+ ion is absorbed

\_E<"Both B and C

Q50. Body temperature is regulated by a set
point in the:

A. Anterior nucleus of hypothalamus
B. Posterior nucleus of hypothalamus

A82 Hypothalamus
\D:"‘Pjs:apti: area of hypothalamus
E. MNone of the above
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